ANHEfER EEBER —ER
1 R _
Jiti g% 44 A NS E 5 e
DIEES 126.34 mi 84 A
INEBE e 92.97 m 60 A
%u?g 41.38 m 30& 205
IN LA A SR 30.78 m 24
REMERARIEE 1199 o TN o
% HH= 107.00 m 1A
ik 1 52.00 m 34&
Dk 2 56.00 m 37
ANREES W B0 E [SE=E3 53.00 m 35 A
D 4 52. 00 m 34N iR
RE= 36.00 m 14\
FNES 38.00 m 23 A 235
2 XA _
St g% 44 A NS = e
L 110.70 m [EIN
. N EoE S 51.70 ni 34\
X S N £ 31.70 m 20 A
e 48. 60 mi 20 A 20
LRE= 18.10 mi [N
%Q—Kz% 85.40 mi 56ﬁ
e 38. 68 m 25
F R X i EXCES 40.75 m 20 A B
e 30.00 mi 12A 125
LRE= 31.75 mi 12N
401 RESS 136. 76 m 72\
4025721 = 81.22 mi 54 \
403%'%§ 54.14 m 36ﬁ _
ﬁ P 404 = 84.20 m 21 215
RS 4052 = 40. 61 m 24N
4062 i =R 40.61 mi 20 A
40T 7= 40.61 m 20\
RE= 43.60 m 17N
Lo 148.50 m 99 A
T 61.81 m 41N e
B IRFE 2 82.98 ni 30N 30
= RHX S LRE= 31.75 m 12N
ESEES 61.81 ni 25 A EFE
WHE=1 - 2 82.69 mi 50 A
WHE=3 26.00 mi 17N
S - 2 122. 77 m SN
ﬁi%%a 20.19 m 2oﬁ {%Ej
A ES 51.76 m 18 187
RIS HE= 31.75 o 121
= 51.26 mi 25 A B
e 31.26 m 12N 1255
%5155 109. 63 mt 72ﬁ -
TR 39.45 m 26 s
FRUR - P IX A [RE=E 49.08 m 18 A 17. 5&
RE= 39.35 m 15X
EEE= 56.68 m 20 A T1E
3 RJETEEEEE (fIR#SGE Z—H)
Jiti g% 44 . R4 1{% é89 ] %}%\ eSS
==t . m
AR EIE B E e 111.16 m T4 N AR
EE=E 87.00 mi 32 A B = ==




4 AR _
Jiti 5 4 G2 TN B [HES
LRGP [ 40.30 m 30N
P X ST SRR 39.80 mi 59 A
RN 29.30 i 18 A
VO K I X A D= 15.80 m 12N
IS 13.50 m 12N
B FH 85.20 m 48 N
HIRMXESET 10.30 ni N
IES 30.40 m 26 A
f:?fn?%() 11.30 mi 8A
N P Vi 53.50 m 24 N\
R I e GD) 22.70 i 184
%E(/ \) 9.70 m —
o A 2= 21.50 m 12N
B AR T %E 39.30 m 24N
" A == 98.10 m 76 A
FRRMRERPT e 2140 | 18K
T g i X BE S T ii% 91.00 m 48 N
I A ~ == 29.25 m 24 N
B AR MR ST == IR TN
5 f%zhﬁ:épﬂébb\*‘z/?_L
St g% 44 _ e A NS E E [FES
Z A —/11 138.50 mt 50 A
Z HHA—/12 141.00 nf 50 A
‘ Sk 56.80 m 23 A
MNER 2= 12 ¥ — DD 56.90 m 23 A
FEE 56.80 mi 23 A\
FoEs 56.80 mi 23 A\
WHE=S 61.80 m 25
%ggg§1 67.80 m 23N
B/ 4 (5] B . é’?_E_H;EZ 54. 20 mi 23 N\
ZESSEE e ?ﬁjﬁ@ 54.20 1 22N
g% 47.80 mi 20 A
6 FREEIEMr X — TRRGE 2 —N)
izt %, T EBE% % é; - iE /%\ [HES
— SR EE S = . m 30
7 trermat BARRETRIER S (R Gt o ¥ —H)
i g% 44 R4 IR S iE /%\ [HES
e Y ES 41.42 m 32
H i By s 8018 1m PN
8 ﬁ&ﬁﬁﬁ(é < BHAR—L)
St g% oA NS EE [HES
WHE= 54.90 ni 25 A
] - 2 72.40 m 36 A
ﬁi\% 54.90 m 24%
g% 52.33 m 10
S<BAE—L ESCES 61.20 1 20 X
I 64.80 ni 20 \
i e 42.70 mt 10\
R 144.60 m 60 A\
9 kS I HARFT
Jiti g% 44 iR RS = [HES
— AN ot 76.57 m 50 A
10 KMAEKELE
g% 4 bR JR S EE B3
— DB 70.00 i 40 N\
KIRAIRBREIZOWTIE, SRELANOHRBRICEEZR T TWERT A,




